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Question: 1

A new ESXi host has been added to the ACP 4200. However, unlike existing ESXi hosts within the ACP
4200, the new host cannot be monitored or detected by Avaya Orchestrator.
What is causing this problem?

A. The new host has not been correctly configured to support vMotion.
B. The new host has not been added to Avaya Orchestrator.

C. The new host has not been licensed yet.

D. The new host has not been configured for Auto Detection.

Answer: B

Question: 2

Refer to the exhibit.
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The CPU performance of Communication Manager (CM) shows a significant difference depending on

the call rates.



Which statement about making configuration changes is true?

A. Increasing the number of Virtual CPUs allocated to CM might help to reduce this difference.

B. Ensuring that a secondary CM is available to allow for load-balancing might help to reduce this
difference.

C. Migrating the CM Virtual Machine to another ESXi host that is less busy might help to reduce this
difference.

D. Reducing this difference is not necessary because this is expected behavior.

Answer: B

Question: 3

With ACP 4200, what is mandatory to ensure Avaya Aura® High Availability across the two Data
Centers?

A. A single vCenter Server that manages both Data Centers.

B. Network connectivity to and in between the two Data Centers.
C. Identical compute servers in both Data Centers.

D. The same VLANSs in both Data Centers.

Answer: A

Reference:
https://downloads.avaya.com/css/P8/documents/101054952 (9)

Question: 4

Refer to the exhibit.


https://downloads.avaya.com/css/P8/documents/101054952
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In the deployment shown in the exhibit, how is High Availability achieved across the two Data
Centers?

A. By ensuring that the L2 VLANs are extended across to both Data Centers.

B. By managing both Data Centers using the same vCenter Server and using vMotion and DRS.

C. By using Virtualization Provisioning Service (VPS) to automate the provisioning of the network
hardware and vSwitches across the two Data Centers.

D. By using Avaya Aura® Application High Availability features.

Answer: C

Reference:
https://downloads.avaya.com/css/P8/documents/100182353

Question: 5

Which two circumstances would require the Avaya Orchestrator ACP Configuration Wizard to be run
in the field? (Choose two.)

A. When a new G450 Gateway is added to the ACP.

B. When a new configuration file for the ACP's VSP Switches is deployed.
C. When a new Virtual Machine is added to the ACP.

D. When a new ESXi Host is added to the ACP.


https://downloads.avaya.com/css/P8/documents/100182353

Answer: BD

Reference:
https://downloads.avaya.com/css/P8/documents/101061680



https://downloads.avaya.com/css/P8/documents/101061680

